Fast Food Math 2

You have $10.00 to spend. Decide with each scenario if you have enough money to
purchase the items and how much change you will get.

Cost of items Pick the correct answer

1 cheeseburger  $1.59 | don’t have enough $$

1 small fry S.79 $6.33 in change
1 small drink 51.29 $5.99 in change

$3.67 in change

2 cheeseburgers $1.59 | don’t have enough $$

1 large fry $1.39 $1.87 in change
1 large drink $1.39 $5.96 in change

$4.04 in change

2 cheeseburgers  51.59 I don’t have enough 55

2 small fries $.79 $2.34 in change
2 small drinks $1.39 §7.21in change
2 chicken nugs 52.59 $4.56 in change
1 cookie 5.99

1 cheeseburger $1.59 | don’t have enough $$

1 chicken nug $2.59 $4.10 in change
1 small drink $1.39 $7.32 in change

$4.43 in change

1 cheeseburger $1.59 | don’t have enough S5

1 large fry $1.59 $4.47 in change
1 small drink 51.29 $8.25 in change

$5.53 in change

2 cheeseburgers $1.59 | don’t have enough $$

1 large fry $1.59 $6.67 in change
1 small drink 51.39 $3.75 in change
$3.84 in change
4 small drinks $1.39 | don’t have enough $5
1 large fry $1.59 $7.34 in change

$2.85 in change
$9.10 in change




1 small drink $1.39 ﬁ | don’t have enough S5
$8.61in change
' §7.61 in change
$6.99 in change
2 large fries $1.59 | don’t have enough 5§
2 small drinks $1.29 $4.49 in change
$4.24 in change
$3.96 in change
4 chicken nugs 52.59 | don’t have enough $$
2 milkshakes $2.49 $4.66 in change
$1.00 in change
$.99 in change
1 double burger  $4.29 I don’t have enough 55
1 large fry $1.59 $.34 in change
1 milkshake §2.49 $9.66 in change
1 small drink 51.29 $1.00 in change
1 milkshake $2.49 | don’t have enough 55
$2.49 in change
$7.51 in change
$5.55 in change
S milkshakes 52.49 I don’t have enough 55
$7.61in change
$.99in change
$.04 in change
1 double burger $4.29 | don’t have enough 55
1 small drink $1.29 $4.61 in change
$4.42 in change
$4.99 in change
1double burger  $4.29 | don’t have enough $5
2 chicken nugs $2.59 $7.61 in change
1 small drink $1.29 $6.99 in change

$9.24 in change




